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. The pitcher in a softball game throws a ball with an initial velocity vo of 20 m/s at an angle a with the
horizontal. If the height of the ball at Point B is 0.68 m and the angle a is 10 °, determine:
(a) The distance d
(b) The angle 6 that the
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2. During a hammer thrower’s practice swings, the 7.1-kg head A
of the hammer revolves at a constant speed v in a horizontal
circle as shown. If p =0.93 m and 6 = 60°, determine (a) the
tension in wire BC, (b) the speed of the hammer’s head.
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. An athlete pulls handle A to the left with a constant force

of P=100 N. Knowing that after the handle A has been
pulled 0.30 m its velocity is 3 m/s, determine the mass of
the weight stack B.
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Extra Credit:

A collar of mass m is attached to a spring and slides without
friction along a circular rod in a vertical plane. The spring
has an undeformed length of 5 in. and a constant k. |
Knowing that the collar has a speed v at Point C, draw the -
FBD and KD of the collar at this point. ‘
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